

IT Solutions Hebron, KY 41048 Phone: 859-586-0600 Fax:

Number: 886206

Quotation

Date: 11/20/2009

Bill To: **JEFF TIPTON** CITY OF COLUMBUS

1601 ARLINGATE LANE COLUMBUS, OH 43228

614-645-0776 wfrogers@columbus.gov

Ship To: **JEFF TIPTON** CITY OF COLUMBUS 1601 ARLINGATE LANE COLUMBUS, OH 43228

614-645-0776

Srl	Part Number	Description	Unit Price	Qty	Price
1	CP-7936	Cisco IP Conference Station 7936 - 1 x RJ-45 10/100Base-TX, 1 x CISCO	\$ 728.95	11	\$ 8,018.45
2	SW-CCM-UL-7936	Software License SW- CCM-UL-7936 CISCO CALLMANAGER UNIT LIC FOR 1 CP-7936 CISCO	\$ 91.50	11	\$ 1,006.50
3	CP-PWR-CORD-NA	Power Cord CISCO	\$ 6.10	11	\$ 67.10
4	CON-SNT-CP7936	Cisco SMARTnet - 1 Year - 8x5 - Maintenance - Parts and labor - Physical Service CISCO	\$ 39.36	11	\$ 432.96
5	CP-7936-MIC-KIT=	MICROPHONE KIT FOR 7936 CISCO	\$ 213.50	11	\$ 2,348.50
6	CP-7936-PWR-KIT=	Cisco Replacement Power Kit - Power Accessory Kit CISCO	\$ 91.50	11	\$ 1,006.50

#### **Comments**

#### **Terms and Conditions**

QUOTE VALID THROUGH 12/30/2009 - VIC2-2FXO= IS NOW DISCONTINUED - ONLY AVAILABLE AS REFURBISHED PRODUCT.

### **Payment Details**

Pay by: Company PO Payment Term: 0 days **Additional References**  **Shipping and Delivery Details** 

Shipping via: Delivery

Prepared by: Rich Email: Phone: 614-876-6521 X Lattro rlattro@pomeroy.com 5152



1020 Petersburg Road
17 Solutions Hebron, KY 41048

Phone: 859-586-0600 Fax:

Quotation

Number: **886206** 

Date: 11/20/2009

Srl	Part Number	Description	Unit Price	Qty	Price
7	CP-7914=	Cisco Unified IP Phone Expansion Module 7914 - Expansion Module CISCO	\$ 240.95	9	\$ 2,168.55
8	CP-SINGLFOOTSTAND=	CISCO IP PHONE ampamp; POWER (MAN SIN FOOTSTAND KIT FOR SINGLE 7914 CISCO	\$ 20.13	9	\$ 181.17
9	CP-DOUBLFOOTSTAND=	Cisco Telephone Stand For Cisco 7960 CISCO	\$ 23.18	9	\$ 208.62
10	CP-PWR-CUBE-3=	Cisco Power Adapter CISCO	\$ 27.45	9	\$ 247.05
11	CP-PWR-CORD-NA	Power Cord CISCO	\$ 6.10	9	\$ 54.90
12	CP-7961G	Cisco 7961G= IP TelePhone - Wall Mountable CISCO	\$ 258.10	223	\$ 57,556.30
13	SW-CCM-UL-7961	CISCO 7961 LICENSE	\$ 116.00	223	\$ 25,868.00
14	CP-7941G=	Cisco 7941G IP Phone - 2 x RJ-45 10/100Base-TX - Wall Mountable CISCO	\$ 200.10	317	\$ 63,431.70
15	SW-CCM-UL-7941=	Cisco CallManager - License - 7941 License - Standard CISCO	\$ 116.00	317	\$ 36,772.00

#### **Comments**

## **Terms and Conditions**

QUOTE VALID THROUGH 12/30/2009 - VIC2-2FXO= IS NOW DISCONTINUED - ONLY AVAILABLE AS REFURBISHED PRODUCT.

## **Payment Details**

Pay by: Company PO Payment Term: 0 days **Additional References** 

### **Shipping and Delivery Details**

Shipping via: Delivery

Prepared by: Rich Email: Phone: 614-876-6521 X Lattro Email: phone: 614-876-6521 X



17 Solutions Hebron, KY 41048

Phone: 859-586-0600 Fax:

Quotation

Number: **886206**Date: **11/20/2009** 

Srl	Part Number	Description	Unit Price	Qty	Price
16	WS-C3750-48PS-S	Cisco Catalyst 3750-48PS Stackable Ethernet Switch CISCO	\$ 5,181.95	9	\$ 46,637.55
17	CON-SNT-375048PS	CON-SNT-375048PS Cisco SMARTnet - Extended service agreement - replacement - 1 year - 8x5 - NBD	\$ 413.28	9	\$ 3,719.52
18	WS-G5484=	Cisco Short wavelength (1000BASE-SX) GBIC - 1 x 1000Base-SX LAN - GBIC CISCO	\$ 305.00	2	\$ 610.00
19	GLC-SX-MM=	Cisco 1000Base-SX Gigabit Ethernet SFP - 1 x 1000Base-SX - SFP CISCO	\$ 305.00	14	\$ 4,270.00
20	GLC-LH-SM=	Cisco - SFP (mini-GBIC) transceiver module - 1000Base-LX, 1000Base- LH - plug-in module - up to 6.2 miles - 1300 nm	\$ 606.95	2	\$ 1,213.90
21	PWR-C45-4200ACV2=	Cisco Catalyst 4500 Series Dual Input AC Power Supply - 4200 W Maximum CISCO	\$ 2,436.95	4	\$ 9,747.80
22	WS-X4248-RJ45V=	WS-X4248-RJ45V= Cisco Line Card - Expansion module - EN, Fast EN - 10Base-T, 100Base-TX -	\$ 3,961.95	2	\$ 7,923.90

#### **Comments**

### **Terms and Conditions**

QUOTE VALID THROUGH 12/30/2009 - VIC2-2FXO= IS NOW DISCONTINUED - ONLY AVAILABLE AS REFURBISHED PRODUCT.

## **Payment Details**

Pay by: Company PO Payment Term: 0 days **Additional References** 

### **Shipping and Delivery Details**

Shipping via: Delivery

Prepared by: Rich Email: Phone: 614-876-6521 X Lattro Email: phone: 614-876-6521 X



Phone: 859-586-0600 Fax:

Quotation

Number: 886206

Date: 11/20/2009

Srl	Part Number	Description	Unit Price	Qty	Price
		48 ports			
23	CON-SNT-356024PS	Cisco SMARTnet - Extended service agreement - replacement - 1 year - 8x5 - NBD	\$ 216.48	4	\$ 865.92
24	CON-SNT-356048PS	Cisco SMARTnet - Extended service agreement - replacement - 1 year - 8x5 - NBD	\$ 343.58	1	\$ 343.58
	<b>24</b> item(s)		Sub-T	otal \$	274,700.47
			Tax @	0%	\$ 0.00
			Fre	ight	\$ 0.00
			T	otal \$	274,700.47

### **Comments**

### **Terms and Conditions**

QUOTE VALID THROUGH 12/30/2009 - VIC2-2FXO= IS NOW DISCONTINUED - ONLY AVAILABLE AS REFURBISHED PRODUCT.

### **Payment Details**

Pay by: Company PO Payment Term: 0 days **Additional References** 

# **Shipping and Delivery Details**

Shipping via: Delivery

Prepared by: <b>Rich</b>	Email:	Phone: <b>614-876-6521</b> X
Lattro	rlattro@pomeroy.com	5152